bra 1: Unit 4 Notes

7,,t4 lesson 3 Notes: Factormg ax® + bx + c when a > 1

f\’rﬂa Rectangle

Area = 2d? + 11d + 12 units?

Given the area, what are the length and width
of the figure? S

Ned o S ckor ,/

What information do you know that could help you
determine the dimensions?

.

What do we need to do to answer this questioq?
How is this different from what we've done before?
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What would make this easier?

A was one !
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Factoring ax2 +bx+cwhena>1

Can we factor outa GCF’?
, No . : . :
e Andaz1. rf it was temporanly moved we could

factor the polynomral 50, move a: muIthIy it by
s C. 3 tHhire ._,. 8 i"«‘.‘

2 Fgéfdr normally....

3 Waxt’ You’ re not done'

e Because “a” was multiplied by “C,” we now havg
to divide it out. :

e Divide “g” by each constant in the bmomml

o If afractxon remams bnng..a,. from the “botioms
oS up . . ,
e % s B

Checkt

Multi"ply the binomials to get original po]yno.miél '

1’-&\\&’:\1\/

Scanned with CamScanner



i Ur"t4 Notes

Algebra I
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To solve a quadratic equation, it must equal zero.
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Solve the quadratic gquation by factoring.
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3. 2x’-3x-7L13 xFl4 |
O How tosolvea quadratic
2 R i equatmn by factormg :
)\/ -3 -20=0 1. Getall terms on one side usmg 3}(1-1- x -4 FO
5 addmon/subtractlon P @
%5 u o a Keepxz poszttve
R -yn = S 1
Y -2x Y0 =0 £2. Use clues m your polynomlal )( + ‘7& - "‘1 0
NO/ | '_ ’to dec1de on your method
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A\ +u -91€ i equalto zero Solve. (/
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X:%)  Ax=-5 |5 Solutions makethe polynomial A e
TR .equa] to zero if 1t’s a SOlUthﬂ - @




~—lgebra 1: Unit 4 Notes

[vertical Motion: when an object is projected into the air, the path that it takes as it descends will be
(’ i:alled “vertical motion.” It can be algebraically represented with
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Ex 2: From the stands at a basketball court you are shooting a ball towards the basket. From the \V4

bleachers, you and the ball are 14 feet above the ground, The ball is shot with an upward velocity of 28
feet/second and is obviously not going to make the basket. So, your friend intercepts the b th

above the ground; How long haV‘nbeen in the air by the time your friend catches the ball?
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Ex 3; 'A ﬂare is launched from the deck of a lifeboat 10 feet above the vater surfacenThe initial upward

velomt); is78 feetﬁsgcond. How long will it tak:aj()r the flare to return to sea?
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{2xit Ticket: To solve, should -
‘Why or why not?
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